1. EGIRER: AP R m A mEBIg gk, B EaimEs-F, AP s
1% )G, Brat EmSEREnEE. Bk FfA ¢ MiEdfFET if £HEUEL switch
TFRiER], BEMARIET, Bratgda A mE B RR.
#tinclude<stdio. h>
void main() {
int a, b, c;
printf (“please put an addend:\n”) ;scanf ("%d”, &a) ;
printf (“please put an augend:\n”) ;scanf ("%d”, &b) ;
printf ("please answer the question:a+bh=?"): scanf ("%d”,&c) ;
if (atb==c)
printf (“very good!”);
else
printf ("wrong! ”);

}

MNBHZNMETFERA T TR, ANERIEIEFHILERIEHER, BRI N, frelik
T do---while SEl—ANEIZH IR Z JG KB HX EIEV S HIMER, WEPESWT:
#include<stdio. h>
void main() {
int a, b, c;
printf ("iEFEIA— % \n") ;scanf ("%d”, &a);
printf ("iFEA— DI \n”) ;scanf ("%d”, &b) ;
do
{
printf ("iFEZf :a+b="); scanf ("%d”, &c) ;
if (a+h!=c)
printf ("iFHHE—4\n") ;
}
while (ath==c)
printf ("[FI&E#!") ;
}

2, HIEFERER: HBE—FEREEE? K. BEELERREPNERRA 4TS,
B Er XXX FEREE” 8 “XXXENETE” MHER.
Hik: year RHEF, Bl year REM 4 BEFREARERE 100 2EBR, 5L year fERE 400 #EBR. HXY
[ CBIREILAN: (yvear % 4 = = 0 & year % 100 != 0) || (year % 400 = = 0)
#: (! (year % 4) && year % 100) || ! (year % 400 )
BEFPARE 1 MR leap RAKRETHEHENFR, HE: leap=1; AHEFE: leap=0.
#include<stdio. h>
void main()

int year;

printf ("iEEN 4 (VEEER ") scanf ("%d”, &year) ;

if (year%4==0&&year%100!=0| | year%400==0) //E4F 5t /& GEH 4 BERR(EASBEHE 100 $EBR K A
e 400 BRI



printf ("%d ZEHE", year) ;
else

printf ("%d AR EHE", year) ;
}

3. ZAEIIKRER: ERIER C LA 4 P ATE (if+go, for M), while 4],
do...while i&5H)) FHI—FF, thin, BIFEFE for EAREEHMW FHEAH “HIE” .

1 2 3 4 5 ¢ H ¥

#include<stdio. h>

void main()

int a, b, c;
for (a=1;a<=9;a++) // YPINREFFIEH 58— K IAT
{for (b=1;b<=9;b++)

if (b<=a)

printf (7 %d”, a*h) ;

printf("\n");}}

4, FHFE=MAE: ERAH CH for MEHEI FFmE B .

mE, FE=AKF6E, N
#tinclude<stdio. h>
viod main()
int a,b,c;//a,b,c FHIREHLE, AL, *BE
for (a=1;a<=6;att)
{for (b=6-a;b>=1:b—)
printf (” 7);
for (c=1;c<=2%a—1;c++)
printf (%)
printf ("\n”) ;}}

5. G A6 : BRFIF C 19 for MREFSHUIN T F B

E et et akakatad

#include<stdio. h>



viod main()
int a,b,c;//a,b,c HHIEEHALLR, AL, &L
for (a=6:a>=1:a—)
{for (b=6-a;b>=1;b++)
printf (" ) ;
for (c=11;c<{=2%a-1;c—-)
printf (%)
printf ("\n") ;}}

6. HFEH: ERBHAPNERMAME—IEES 0, Bt o 2528 0ER.
#include<stdio. h>

viod main()

int m, n;
printf ("EMANE—IF¥E n: 7)) scanf ("%d”, &m) ;
If (m==0| [m==1) ;

printf ("%d AREEL", m);//0 f 1 BEAREEBALS?

for (n=2;n<m; n++)

{

if (m%n==0)

{printf ("%d AN2EFEE",m);
break;

else

printf ("%d” Z2EH “, n);
1}

7. HE: 11421431+, .. 49!
11421431+, .. +91=409113. 000000

#tinclude<stdio. h>
void main()
{
int i;long p=1;double s=0.0;
for(i=1:i<=9:i++)
{p*=i;S+=p;}
printf ("114+2!43!+---+91 =%f\n", s);}

8. TE: 11431451+ .. +15!

11431451+, .. +151=3976648367. 000000

#include<stdio. h»
void main()
int i;long p=1;double s=0.0;
for (i=1;i<=15;i++)
{p*=i;



if (1%2!=0)
st=p:}

printf ("1!4+3!45!+---15! =%t\n", s) ;}

9. & 21+41+6!+. .. +16!

21+41+6 1+, . . +16!1=3765805930. 000000
#include<stdio. h>

void main()

int i;long p=1;double s=0.0;
for (i=1;i<=16;i++)

{p*=i;

if (i%2==0)

s=s+p;}

printf ("2!+4!+6!++16! =%t\n", s) ;}

10, A “HEA#E” M EHP WERMARER 10 MEEFAFFHF. 23k FIHCH
HAFGEES, T aes ml 4t He e ar fa A .
#include <stdio.h>
void main()
{
int i,s,all0],t;//#H MR i
printf ("iFHA 10 M4EH: \n") ;
for(i=0:;i<=9;i++)
scanf ("%d”, &alil) ;//% 10 MEE I AIAFANZEA R Fhr 0 2 9 X 10 MrE L
for(i=0;i<9;i++)
{for (s=i+1;s<=9;s++) //als]h alil I JG—4r
if(alil>als])
{t=alil;
ali]=a[s];
als]l=t; }//REd B MBENLLEIAL, ST
printf "HEFPEREA R \n") ;
for (i=0;i<=9;i++)
printf ("%d “,ali]); }

11, Git: A NBRRAER 10 ML GiE PR, BhCHIE.

#include<stdio. h>
void main()

{

int 1i,s,al10], t, sum;double n;

printf ("HIAEE 10 P \n") ;



for (i=0;i<=9;i++)

scanf ("%d 7, &alil) ;
for(i=0:;i<=9;i++)

printf ("%d 7, alil);

for (i=0;i<=9;i++)

{for (s=i+1;549;s++)
if(a[il>als])

{t=a[i];

ali]=als];

alsl=t; }//5%EM 10 BFAFHEF
for (i=0, 1<=9, i++)

sumt=ali];

n=sum/10;

printf (
"10 MU B %d\n

10 NI BN Z: %d\n

10 MRS FEBR: %t\n”,a[9],a[0],n);}

12, B 4ERCHSCHE e e SO int a[5][4];

SCHL 5 AT 4 FUFERER I . BOR. FEFETT

B RSB IUTAR UCOR: 1720 T8 AR %L 75 AR for 1A30 5 4B 44Tt .«

#tinclude<stdio. h>
void main()

int i, j, s=1;

int a[5][4];
for (i=0;1i<=4;i++)

{for (j=0; j<=3; j++)
{for(aljl=s;s<=20;s++)
printf (" 7);

printf ("%4d”, ali]1[j]) :}
printf ("\n”) ;}



